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1 PN MREFRK—-V 57 39.025 1 Heh LEF TH T LK 5T 37.300
2 [zt TAVARKRS 5T 38.650 2 LA ®BE NIFHEBRY TS 35.600
3 L7 NI UN Tr -k 57 38.525 3 & 2 KRR 77 35.300
4 =/ & RERR=V 057 38.200 4 = BE ARy GEREITT 35.200
5 &' ER s v 37.625 5 Bk BIE KBRE LAR s 77 34.850
6 hngE BN TAYRKETFT 37.550 6 IBE # KBRS T 7 34.500
7 ‘AR 3t KBRF LIRS 57 37.525 7 BRE &7 VAT —LiKRI T 34.400
8 LA B WEREFRKR=—V 057 37.500 8 WA B TAYRKERY 5T 34.200
9 RN & HEEBER Y —L 37.300 9 TR mfE TAVRKRT 5T 33.750
9 | EX KYMiF#E 2 5 7 37.300 10 SK WF NIFANEERS ST 33.600
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JEL K4 B4 B Nz K4 B4 /R
1 AN HRE PN S 9.850 1 = BE ARy GBI TT 9.100
2 PN MREFRK—V 57 9.750 2 Heh LEF TH T LK 5T 9.050
3 [zt TAVARKRS 5T 9.650 3 LA ®BE NIFHEBRY TS 8.900
4 Ak A T T LRI T T 9.600 4 tx 2 KBRS 77 8.850
5 | EX KYMiF#E 2 5 7 9.500 4 WR BE TAY AR 5T 8.850
6 2E B VTR ST 9.450 4 TR BEE TAVRKRT 5T 8.850

4 EE BE HME R —LRs 57 8.850
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JIEfz K4 B4 (EI JEAL K4 FE% /R
1 ETF KB WEEFRK—-—V 057 9.950 1 B LEF TA T LRI ST 9.525
2 =/ & KHRAR—YV 57 9.900 2 WA B TAVRKRT 5T 9.400
3 hngE BN TAYRKEREY 5T 9.850 3 A Z KERIFIR S 77 9.250
4 B wE TA YRR 5T 9.750 4 T ¥ KRR 57 9.200
5 Ak FA TA T LRSS 9.725 5 Bk BIE KBRE LIRS 57 9.150
5 % /8 Ny T2E—vo 57 9.725 6 hO BE FIFANGEERSTT 9.050

[BkE] [Fi5E]

JEfL K& g% 8= JEAL K& E% B/R
1 B ®E TAYRKET 5T 9.600 1 BRE K8 VT LRI T 9.250
2 Ak FA Tr 7L T 9.500 2 B LEF THT—LiKRI T T 9.150
3 AT AE MEREFRR—V 57 9.475 3 L B»E FIFNGEERS T 8.850
4 =g & KERR—=Y 57 9.450 4 = BE ARy GERBEIT7 8.750
4 LA A MEREFRR—V 57 9.450 5 Bk BE KBRE LiFR s 77 8.650
6 RNl 5 BB — L 9.400 6 LT NSZR=YTHTFI— 8.500
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[=giva K& FE% B JEfL K4 B4 B/R
1 pe1 N NREFRK—V 57 9.850 1 B LEF THT—LiKRI T T 9.575
2 =i & KERR=Y20 57 9.800 2 BRE K5 e s 8.900
3 AR st KBRE LIRS 57 9.750 3 iz KRERS 77 8.850
4 Ak A V7L T T 9.700 4 LO BE FIFNGEERES T 8.800
4 hngE BN TA VAR T T 9.700 5 I & KBRS 77 8.700
4 TH GERR FIFANGEERSTT 9.700 6 LT NSZE=YTHTI— 8.500
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JEfL K& FiE% B JEfL K& FiE% B=
1 PR S TrIT—LKRs 57 39.000 1 ok B VTR T 37.150
2 = BEE MREFRR=VI 57 38.475 2 RH B TrS— LR 57 36.750
3 HH E3t AFIRKR=V 0T THE 38.000 3 KR YYH TH T LK 5T 36.500
4 BAR T YRR S T 37.625 4 KM AIF ARy VKBV TT 36.225
5 AAR F AFIRKR=V 0T THE 37.575 5 R = ARy 9BV 77 36.050
6 E% TAYRKETFT 37.100 6 [ITE N ARy GEREITT 35.950
6 LLEE B FHFEAILGRITT 37.100 7 HA &R VT LRI T 35.900
8 SH B} s Vaw 36.900 8 Lo =3F KBRE LIRS 57 35.450
9 EH £ TAYRKET 5T 36.800 9 A P TAVRKRT 5T 35.100
10 il #H AF I RR=Y 7 5 THR 36.700 9 R EE AFIRR—V I T TARERS 35.100
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1 Kl KA TA T LRI ST 9.900 1 R = ARy KBV TT 9.300
2 2R EE MREFRK—V 57 9.800 2 KIE #EE ARy IEEY 77 9.125
3 AAR &t AFIRKR=Y 0T THBH 9.600 3 [ITE N ARy GBI TT 9.100
4 HH Bt aAFIRR—=Y T THEAM 9.400 3 LR =3 KBRE LiAR s 77 9.100
4 EH £ TAYRKEREY 5T 9.400 3 BE P TAY AR 5T 9.100
6 i wE aAF IRR—Y T THERH 9.250 3 AR A NSZE—YTHFI— 9.100

3 EH EkAE HME R —LRs 57 9.100
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1 PN ) E RS A 9.800 1 A =23 KRB LR 77 9.600
2 B EZE e Vaw 9.525 2 A &R Kk s 77 9.500
3 =H E} AFIRKR—=V U T THBH 9.500 2 EK B e A S A 9.500
4 HRE B FERAILFRIZT 9.450 4 FHE KRR KBRS 77 9.300
5 =8 TE WEEFRKR—=—V 057 9.375 5 A M ARy GEEITT 9.250
6 LEESEER) TAYREEREY 57 9.250 6 RH BF VT LRI TT 9.150
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J[=(iva K& g% B =i K4 E% BR
1 Kl X T T LRI T T 9.650 1 AR VYH VT LRI T 9.450
2 SH B} VNIRRT 9.600 2 Bk B THT—LiKRI T T 9.400
3 =28 EE MEREFRR—V 57 9.550 3 =H B e s 9.350
4 LBE B FERRI LRI 57 9.500 4 KA AF ARy GERBEIT7 9.250
5 AAR i aAF IRR=Y O T THBE 9.450 5 A M ARy GEREYTT 8.900
6 A R YRS T T 9.400 5 L] ARy IERBEY T T 8.900
6 HH Et aAF IRK=Y O T THBE 9.400
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1 =28 HE MREZFRK—VI 57 9.750 1 EK B TAT— LR 5T 9.400
2 HH Bt AFIRKR=Y I T THBH 9.700 2 RH B THT—LiKRI T T 9.350
3 +iE k— YARRE—VI 5T 9.675 3 BHE &% T TR T 9.100
4 PRS2 Tr 7L T 9.650 4 KR YYDH THT—LiKRI T T 9.050
5 B ZEZE e Vaw 9.600 4 KfE AIF ARy GEREYTT 9.050
5 B TAYRKERT T T 9.600 6 HR = ARy IEREYTT 8.850

6 EF EF AFIRR=V I T THRERS 8.850
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1 FH OB KBtk s 57 35.100
2 Bk U Rtz s 57 34.600
3 | AEE KYMiK#2 57 33.900
4 bR HREE AF I RR—Y U5 THBEM 33.700
5 AR R AF I RR=Y 5 TRBEH 33.650
6 P E EPNITS T 33.325
7 BA FIRR KGCIHIRs 77 33.100
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1 | AEE KYMiK# 2 57 9.350 1 FH #¥¥ Kk 57 9.350
2 FH OBE KERtAIR 2 77 9.300 2 B U/ KRR 57 8.750
3 KU/ KERMEIRS 57 9.150 2 AR R AF I RR=Y U 5 TR 8.750
4 P E ESNIT ST 9.025 4 B A% KYMiF#E 2 57 8.600
5 BA FIRR KGCiFIRs 77 9.000 5 IR AREE AF I RR=Y 7 5 TR 8.550
6 bR HREE aF I RR—Y U5 TR 8.550 6 FiE E HABRKIES 77 8.450
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AL K% FiiE% B =G K4 g% (E3=3
1 IR RZE AFIRKR—=V U T THBH 8.350 1 B U/ KRR 77 8.600
2 FH B KBk s 57 8.300 2 BN FIRE KGCtkigs 77 8.350
3 AR P AFIRKR—=V U T THBH 8.200 3 PR REE QS IRR—=Y U T TR 8.250
4 i-E 4 KeRiE#Rs 77 8.100 3 AR BH aAF IRK=Y U T THB 8.250
5 FE E EPNIT ST 8.050 5 FH B KBk 57 8.150
6 | AR KYMiF#E 2 57 7.850 6 | EE KYMiF#R 2 57 8.100
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JEfL K& FiE% B JEfL K& FiE% Ba
1 FH Fes TA AR T T 38.900 1 '/E Fit RS Vv 37.900
2 H M—EB rIFAAER ST 38.775 2 NE KA ARy GEREITT 37.825
3 FHE & TAYRKET 5T 38.450 3 WEF H AFIRR—V IS TRERS 36.900
4 hA  #EARER HEEBER T —L 38.325 4 RS AF IRR=V IS THRERS 36.850
5 F AR e A~ 38.300 5 ;A H NSZE—-YTHF I — 36.600
6 WR W5 Ny TRR=Y 057 37.775 6 mE EC KGCthigs 57 36.475
7 B EA MREFRK—V 57 37.525 7 wE AN YARZAE-VI ST 36.000
8 HR KE rIFAAERT ST 37.400 8 R Az KGCthigs 57 35.700
9 FRE B FIF NGRS T T 37.100 9 [l VY RERY 7T 35.425
9 Rl B rIFAAER ST 37.100 10 Kk B FRAILFKREITT 35.400
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1 el MR FIFHEEBREI ST 9.650 1 25 &t ZovvkigEs 57 9.350
2 FH Fes TAVRKERETTT 9.600 2 NE KA ARy IEEY 77 9.100
3 FE & TAYRKETFT 9.550 3 LY AF IRR=V IS TRERS 8.850
4 FRIEE T T LRI T T 9.450 3 mE AN YARAR=YIFT 8.850
5 LA #EAREB HEEBER T —L 9.350 5 AR Bk NSZR=YTHTI— 8.800
6 WR BB Ny FRE=VI57 9.300 6 WEF H AFIRR=V I T THRERS 8.650
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JEfL K& g% B8R JEAL K& B4 B/R
1 FHE & TAYRKET 5T 9.950 1 WEF H AFIRR=V I T THRERS 9.825
2 H M—EB kIFAAEBR ST 9.875 2 AR AF IRR=V I S TRERS 9.700
3 LA #EARER HEBR T — L 9.850 3 BE  Fit VY TRsS T 9.625
4 AR B TAVRKES T T 9.825 4 NE KA ARy GBI TT 9.550
5 EH fEem TA AR T T 9.700 5 #}AR W NSRR=YTHTI— 9.500
5 BH BEH 2Ry IEEITT 9.700 5 R % KGCiE#R s 57 9.500
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JIEfz K& B4 B JEfL K4 % B/R
1 RH Fe%m TAVRKET TT 9.900 1 BE H AF IRR=V IS TRERS 9.725
2 FHE & TAVRKERT T T 9.550 2 B2 Fit AR T 9.675
3 LA #EARER HERER T —IL 9.525 3 mEE B KGCHr#Rs 77 9.650
4 LH f—EB kIFANGEERS T 9.500 4 NE KA ARy IEREYTT 9.625
5 AR B TA VAR T T 9.450 5 hR Mz KGCHr#Rs 77 9.600
5 F AR T TR T T 9.450 6 A Ht NSZE=YTHTI— 9.350
5 HH O PAKRER bIFADERTTT 9.450
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1 FAIERE Tr 7L T 9.800 1 B KA ARy IEREYTT 9.550
2 LH f—EB kIFANGEERS T 9.750 2 B8 it AL Vv 9.250
3 EH Fe= TA VAR T T 9.700 3 AR AF IRR=V I T TERERS 9.000
4 LA #EAER HEEBR I — L 9.600 4 il KGCir#s 77 8.950
5 WR % Ny T2R=Y 057 9.550 4 A B NSZR=YTHTFI— 8.950
6 HR KE FIFHEBRITT 9.500 6 S =R~ 8.850
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1 Xxa biLh MEREFRKR=VI 57 36.800
2 =N 2Ry GREITT 36.700
3 A B OEREFRKR=VI 57 36.675
4 HE OBE WREFRAR—V 57 35.900
5 FIH B4 YARRR=YVITT 35.725
6 FR &3 YANAR—=V ST 35.650
7 RE KE YARRR=YVITT 35.450
8 il BAF) YANAR—=V ST 35.000
9 IR fEH A IRR=Y U FTRERS 34.800
10 MH OEE WREFRAR—VI 57 34.575
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JEfZ K4 Frlg4 (EIs Nz K4 B4 /R
1 X bHibhy WREFRAR—V 57 9.600 1 R BE WREFRKR—V 57 9.250
2 RE KE YARRE—=VI ST 9.450 2 [EAE N =3 YARZAE-VI ST 9.150
3 [ WREFRAR—V 57 9.425 3 Xxa bbb h WREFRKR—=V 57 9.050
4 BlE /e ARy GEEYTT 9.300 4 PIH B4 YARRR=VITT 9.000
5 PH BATE YARRR=Y 5T 9.275 5 =1 Y ARy IEEVTT 8.900
6 [ =S YARRR=VI ST 9.250 6 EH =@ OREFRKR=YI 57 8.800
6 A AP IRR—V I T TRERS 9.250
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JIERT K4 B4 (EI JEAL K4 FE% /R
1 Bl /g 2Ry GBI T 9.400 1 BIE ¥t MREFRR—V 57 9.450
2 BIH #1E MEREFRKR=VI 57 9.050 2 xa biLh OREFRR=VI 57 9.150
3 X bHivh WREFRAR—V 57 9.000 3 =N ARy GBI TT 9.100
4 FIH B4 YARRR=VI ST 8.850 4 R BE OREFRR=VI 57 9.050
5 fR &3 YANRAR—V I ST 8.700 5 R KB YARAR=YI 5T 9.000
5 il BAF] YARRR=YI ST 8.700 6 PIH B4 YARRR=VITT 8.600
5 t8 F FIFAAEBR ST 8.700 6 il BAF) YARAR—V IS 8.600

6 RN AFIRKR—=Y I T TRERSE 8.600
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1 EH OE kIFANGEERS ST 39.175
2 He XA RAISEIRY 7 7 -nge 37.900
3 AR BZE T T LRI T T 37.650
4 FIR HE Tr - Lk 57 37.500
5 Mg KB TrIT—LKRs 57 37.450
6 Bl k& rIFAAERT ST 37.400
7 B BN BAEEERS 7 7 -nge 37.275
8 i B RAISEIRY 7 7 -nge 37.250
9 HiE BE AFIRKR=V I T THIERS 37.175
10 B WA TAYREETFT 37.162
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1 EE OE rIFAAERT ST 9.750 1 ER OE FIFDEERS T T 9.875
2 AR BZE T T LRI T T 9.450 2 PR B RANEEIR Y 7 7 -nge 9.800
3 He XA RAISEIRY 7 7 -nge 9.350 3 He XA RANEERIR Y 7 7 -nge 9.700
4 g KB T T LRI T T 9.325 4 2% BN RAVEER Y 7 7 -nge 9.525
5 IR e E RS A 9.300 5 2l k& FIFHERITT 9.475
6 2l k# FIFANGEERSTT 9.200 5 HE BR AFIRR—Y Y S TRERE 9.475

[0V #] [BkE]

J[=(iva K& g% B =i K4 B4 BR
1 EH OB FIFHEBRITT 9.600 1 BH B NIF OGRS TT 9.750
2 B K BAEEIE Y 5 7 -nge 9.300 2 LIE PN YRy 57 9.687
3 iy B RASHEIRY 7 7 -nge 8.900 3 HR KX AFIRK—V IS TRERS 9.637
3 RE BEX My TRR=Y 57 8.900 4 An BE e A S A 9.575
5 #E K POSA S - 8.700 5 Ng KB Vo — LRy 57 9.525
5 =) vy ORRY 77 8.700 6 Hp XA AR Y 7 7 -nge 9.500
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AL K% FiiE% B J[={v K4 g% (E3=3
1 EH OB FIF AR TT 9.950 1 ER A IS AR TS 9.800
2 B X BAEEERS 7 7 -nge 9.900 2 BH BN AR 5 7 -nge 9.750
3 AR BT RS 9.800 3 fi B AR Y 7 7 -nge 9.650
4 IR M T TR T T 9.450 4 B mBA TARIER TS5 T 9.600
4 Bl K% bIFAAER T 9.450 5 FRIR HESE VALK 57 9.500
6 iy B RASHEIRY 7 7 -nge 9.400 5 RE AKX by TRE=V 5T 9.500
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JEfz K4 FiE% /R JEfL K4 B4 B=
1 HH O TAYRKET 5T 49.100 1 B % TH T LK 5T 46.050
2 B A TAVRKRES 5T 48.000 2 B8 E SYARAR—VI ST 45.700
2 LA & Hyn\hkig o 57 48.000 3 e BH ARy 9B TT 45.650
4 BA IRk TAVRKRES 5T 47.900 4 LT ER TAYRKERY 5T 43.950
5 A& FEH Hyn\hkig o 57 47.700 5 Ml BRE ARy OB TT 43.900
6 Btk & FIF AR TT 46.950 6 B BT kY FRBE=V57 43.650
7 % B kIFANGEERS ST 46.300 7 tE BE MREFRK—-V 57 42.500
8 #ia HE WEREFRKR=—V 057 45.400 8 £H Fonr kY TRBE=V 57 41.350
9 =T #ER YARRAR—-VI 5T 44.950 9 % =H2 URFIEIRS 57 38.950
10 NGRS AU NKBRY 77 44.300 10 RE  E0 FIRR I LGRS 57 38.900
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1 EE: = TA VAR 5T 12.300 1 B —E TrS— LIRSS 11.900
2 2T B3 YARAR-VI 5T 11.950 2 "e 2R ARy IEEY 77 11.750
3 JITE . By NFgs 57 11.900 2 B BT kY FRBE=V 57 11.750
4 #ia HE NEREFRK—V 57 11.850 4 25 WE YARZAE-VI ST 11.600
5 BA BBk TA YRR 5T 11.800 5 Ml BFE ARy VB 5T 11.550
6 B A TAVARKES 5T 11.600 6 tE BE MWREFRK—V 57 11.100
6 £H Fons by TRE=VI5T 11.100
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1 HEE 2 FIFAHERITT 12.500 1 B ME YARRE=VIS5T 11.800
2 B Rk TAVRKES 5T 12.450 2 [T TAVAKEY 5T 11.200
3 A EH HYNFgs 57 12.150 3 e B ARy VB 5T 10.850
4 ik kIFANGEES ST 12.050 4 R BT by 72FE=V 057 10.450
5 W fEs HYNFgs 57 11.650 5 Ml BFE ARy VB 5T 10.350
6 I HY g 57 11.300 6 thE BE MWREFRK—V 57 9.300
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1 HOE TAVAKERES 5T 13.600 1 -3 TA T LK 57 12.600
2 A & Ay NEgRy 77 12.750 2 2 ME SARRE=VIST 12.050
3 B BRE TAVAKERES 5T 12.500 3 EF ZOH by F2E—v 5T 11.200
4 A& FSH By NFgs 57 12.250 4 % HEB URF KRS 57 11.100
5 BH fEE hy TRR=Y 57 11.650 5 e B ARy GEREYTT 11.050
6 2T ER SARARR—VI ST 11.600 6 M)l EFE ARy GRBEI 77 11.000
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=i K& g% B =i K4 E% BR
1 B RS TA AR TT 13.250 1 i R— 3 TAT— LR 5T 12.650
2 =R TAYREEREY 77 12.800 2 LT OEM TAYRERY 7T 12.200
3 BAR BRI TA AR T T 12.650 3 e B ARy GEREYTT 12.000
4 Rk # bIFAAER T 12.250 4 wE BE MREFRK=V 57 11.400
5 B E kIFANGEERS T 12.150 4 E BT by 72FE=V 57 11.400
6 WA 5 HYNFgs 57 12.050 6 IR FE AT —LKRY 57 11.350
6 R & ANk gy 77 12.050
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1 BR BA Ny T2R—V0 57 79.800 1 Bl =D 7 AAEIRR Y 7 7 -nge 55.800

2 M K& TAVARKRS 5T 75.000 2 A & TAVRKE Y 5T 52.500

3 mE s My TRR=Y 057 73.950 3 B E3F 7 AAEIRR Y 7 7 -nge 51.700

4 FiHE HZ AF IRR=Y I T TRERS 72.150 4 Bl 22 TAVREERY 77 50.650

5 [EENEE PN MEY 2 =TI 57 71.900 5 RE = AR Y 7 7 -nge 50.500

6 TR BEX Tr - Lk 57 71.650 5 BEE 57 KEhFIES 77 50.500

7 EH B TAVRKEY 5T 71.100 7 ik #TE KEFIES 77 50.350

8 TN AR TAYRKETFT 70.700 8 = wE TAYRKERY 5T 49.100

9 WR A Ny T2R—V0 57 70.200 9 ’ERE % FIFANGEERS T 48.750

10 BE HE TAYREETFT 69.850 10 B th BRAEEIRY T 7 -nge 48.650
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1 BE s Ny TRR=Y 057 13.200 1 Al =D BAEEIRY T 7 -nge 13.500

2 BR BA Ny T2R—V0 57 12.850 2 mE  ZH TAVRKRS 5T 13.250

3 TR BX Tr - Lk 57 12.800 3 B {hF BAEEIRY T 7 -nge 13.050

4 mit BK kIFANGEES ST 12.500 4 s T& KRB LIRS 57 13.000

5 KE EA TA YRR 5T 12.300 5 BER OF TAY AR 5T 12.750

6 BE R AFIRK=Y I T TRERS 12.250 6 Bth RAVEER Y 7 7 -nge 12.550

6 EH B TAVRKRY 5T 12.250
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1 R BEA Ny T2R=V 057 14.150 1 [icIT= BANEEIR Y 5 7 -nge 14.450

2 2f K& TAYREEREY 5T 12.850 2 RE & RAVEEIR Y 7 7 -nge 12.450

3 [EENEE PN ME 2 =TI 57 12.150 3 "Il 2R TA YRR 5T 12.400

4 FHE ME AP IRR—V IS TRERS 11.550 4 flll HA FIFANGEERES T T 12.350

5 WH  K#h AL Vvl 11.450 5 BH R TAY AR 5T 12.250

6 HE &Y by T2RE=Y0 57 11.250 6 'R #E FIFHEBRITT 12.150
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1 BR BEA by T2RE=V0 57 12.650 1 B EF RANVEER Y 7 7 -nge 14.850

2 WR A Ny T2R=Y 057 12.550 2 mA B TAVRKEREY 5T 14.300

3 - - S Ny T2E—vo57 11.900 3 TS BAEEIR 2 7 7 -nge 14.200

4 EE R TAY AR T T 11.850 4 BE 51 KEhEIES 77 13.550

4 ZEl EBZ NREZFRK—V 57 11.850 5 RE & BAEEIR 2 7 7 -nge 13.450

6 EESE PN MES 2= TR 57 11.750 6 HIl 2T H TAVAKEREY 5T 13.300
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1 5= - Ny T2R=Y0 57 13.650 1 mA B TAVRKEY 5T 14.150

2 BAR BX Tr - Lk 57 13.450 2 [icIT=<7 BAEEIR 2 7 7 -nge 13.650

3 ZEL B NREFRKR—-—V 57 13.300 3 BE 51 KEhEIES 77 13.600

4 2/ K& TA AR T T 13.100 4 ik F1E KHEDEEY 77 13.500

4 hnug  BES bIFAAER T 13.100 5 e tE B ANEEIR Y 5 7 -nge 13.350

6 )| R TAYREERT T T 13.050 6 Y hEF BAEEIR 2 7 7 -nge 13.150
6 A FHIR KEhEIES 77 13.150

[F47#E]

J[=iva K4 g% /=

1 BR BEA Ny Z72E=V057 13.200

2 FHE ML AF IRR—V I T TRERS 12.600

3 B K& TAYRKET T T 12.550

4 5= - 5 Ny T2R=V0 57 12.400

5 BAR BEX TAT— LIRS 57 12.250

6 B B TAVRKES 5T 12.150
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1 R BEA Ny T2R=V0 57 14.050 1 WA R THT—LiKIRI T T 44,550

2 B K& TAVRKERT T T 13.000 2 A KA AT — LIRS 57 41.100

3 TR BX VAT — LR 57 12.450

4 FHE ME AF IRR—Y I S TERERS 12.200

5 w K& FIFHERITT 12.050

6 WE BA Ny TRR=V 5T 11.900




